
Bayes Nets Section Worksheet 
 
 
Consider the following Bayes Net: 
 

(G)reen Party President Elected

(M)arijuana Legalized

(B)alanced Budget (C)lass Attendance Increases

0.950.05Prior

P(G=f)P(G=t)

0.990.01G=f

0.250.75G=t

P(M=f)P(M=t)

0.80.2M=f

0.20.8M=t

P(B=f)P(B=t)

0.50.5M=f

0.750.25M=t

P(C=f)P(C=t)

 
 
 
1. For each node in the network, write down the distribution it corresponds to. 
 
 
 
 
 
2. Factor the joint distribution using the chain rule. 
 
 
 
 
 
3. Now, factor the joint distribution using the simplifying assumptions of this model. 
 
 



 
4. Fill in the complete joint probability table 
 
 G M B C P(G,M,C,B) 
1 True True True True  
2 True True True False  
3 True True False True  
4 True True False False  
5 True False True True  
6 True False True False  
7 True False False True  
8 True False False False  
9 False True True True  
10 False True True False  
11 False True False True  
12 False True False False  
13 False False True True  
14 False False True False  
15 False False False True  
16 False False False False  
 
5. Compute the following: 
 
 P(M=t) =  
 
 
 P(B=t | G=t, M=t) =  
 
 
 P(B=f | M=f) =  
 
 
 P(C=t | B=t) =  
 
 
 P(B=t) =  
 
 
 
6. Is B conditionally independent of G given M? 


